Midterm 2
Math 31B

Spring, 2022
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There are 6 questions. Write clearly and show all of your work. You must justify all of your answers to
receive credit. No calculators or notes are allowed.
You may use any of the following formulas from class:
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1. Evaluate the following integrals
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2. (10 pts) Find the arclength of the function f(x) = %.1‘3/2 on the interval [0, 2].
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3. (10 pts) Use the comparison test to determine if the following integral converges
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4. (10 pts) Determine the limit:
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5. (10 pts) Consider the infinite series
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(b) Does Z (7 - (+—1)2> converge?
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6. True/False Circle the correct answer (2 pts each). You do not need to justify your answers.
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(d) False If 0 < f(z) < g(x) dIl(l/ f(x)dz diverges, then/ g(z) dz diverges.
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